## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving FY 2006 Head Start Program Budgets Modification No. 1/Amendment No. 1
- Account #01-1211, Account #11-1212, and Account #11-1218)

RESOLUTION NO. 06-406

1	WHEREAS,	the Tohono O'odham Nation through the Head Start Program has been successfully
2		$providing \ services \ and \ assistance \ to \ eligible \ Tohono \ O'odham \ children \ and \ families;$
3		and
4	WHEREAS,	the Head Start program, through the Grants and Contracts Office has received the
5		allocation of \$1,492,765.02 for account #11-1218; \$627,397.98 for account #01-1211;
6		and \$177,833.75 for account #11-1212; and
7	WHEREAS,	the  Defense  Appropriations  Act  (P.L.  109-148)  provision  one  states  all  Federally  funded  and  for all  for
8		Head Start Grantees FY 2006 budget, Account #11-1218, allocation will be cut by 1%;
9		which is in the amount of \$16,162.00; and
10	WHEREAS,	the Head Start Program Budget Account 01-1211 has submitted for review and
11		approval the proposed FY 2006 Budget Amendment No.1/Modification No. 1, which
12		decreases line item610-Salaries&Wagesby\$18,265.17, decreasesline item620-Fringe
13		Benefits by \$5,479.55, decreases line item 622-Employee Security Clearances by
14		$\$1,\!000.00, decreases  line  item  650\text{-}Tuition  and  Registration  by  \$4,\!650.00  and  decreases  $
15		line item 722-Program Supplies by \$1,000.00; and
16	WHEREAS,	the Head Start Program Budget Account 11-1212 has submitted for review and
17		approval the proposed FY 2006 Budget Amendment No. 1/Modification No. 1, which
18		$decreases  line  item  610\text{-Salaries}  \&  Wages  by  \$11,\!615.42, decreases  line  item  620\text{-}Fringe  decreases  decreases  line  item  620\text{-}Fringe  decreases  de$
19		Benefits by \$3,931.38; decreases line item 900-Indirect Cost Charges by \$1,489.18; and All of the contract of the
20	WHEREAS,	the Head Start Program Budget Account 11-1218 has submitted for review and
21		approval the proposed FY 2006 Budget Amendment No. 1/Modification No. 1, which
22		decreases line item 610-Salaries & Wages by \$22,257.58, decreases line item 620-
23		Fringe Benefits by \$4,128.29; decreases line item 650-Tuition and Registration by
24		\$1,325.10, decreases line item 660-Travel Expense by \$3,000.00, decreases line item
25		720-Supplies Office by \$500.00, decreases line item 730-Dues & Subscriptions by
26		\$1,000.00, and decreases line item 867-Awards by \$570.00; and
27	WHEREAS,	the Head Start Program Modification No. 1/Amendment No. 1 increases line item 712-
28		Gas, Oil, and Coolants by \$4,650.00 and increases line 710-Utilities by \$2,000.00 in
29		Account #01-1211; and

	RESOLUTION NO. <u>06-406</u> (Approving FY 2006 Head Start Program Budgets Modification No. 1/Amendment No. 1-Account #01-1211, Account #11-1212, and Account #11-1218) Page 2 of 3
1	WHEREAS, the Head Start Program Modification No. 1/Amendment No. 1 increases line item 712-
2	Gas, Oil & Coolants by \$6,395.10 and increases line item 900-Indirect Cost Charges by
3	\$6,095.58; and
4	WHEREAS, the Head Start Program Modification No. 1/Amendment No. 1 creates a new line item
5	750-Capital Equipment by \$23,744.72 in account #01-1211, creates a new line item 750-
6	Capitol Equipment by \$4,128.29 in account #11-1218, and creates a new line item 750-
7	Capital Equipment by \$17,035.98 in account #11-1212.
8	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby
9	approve and authorize the expenditure of the attached Head Start Budgets
10	Modification No. 1/Amendment No. 1, Accounts #01-1211, #11-1212 and #11-1218.
11	BE IT FURTHER RESOLVED that a new 750-Capital Equipment line item is being added to budge
12	account #01-1211, #11-1212 and #11-1218.
13	BE IT FURTHER RESOLVED that a one percent cut has decreased budget #11-1218 by \$16,162.00
14	BE IT FINALLY RESOLVED that the Tohono O'odham Nation Chairwoman or Vice Chairman are
15	hereby authorized to negotiate and execute the budget provided that any amendments
16	${\bf affectingthefundingorfundinglevelsofthesebudgetshallbesubmittedforapprovalue}$
17	by the Tohono O'odham Legislative Council.
18 19 20 21 22 23 24	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 20 <sup>TH.</sup> Day of JUNE, 2006 at a meeting at which a quorum was present with a vote of 2,440.80 FOR; -0-AGAINST -0-NOT VOTING; and [06] ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2) & (3) and (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
25	TOHONO O'ODHAM LEGISLATIVE COUNCIL
26 27	$\mathcal{A}$
28	and the
29	Evelyn B. Juan Manuel, Legislative Chairwoman
30 31	22 day of, 2006
32	<u>w</u> day or
33	ATTEST:
34	
35	Chanic A A
36	Shirt Start
37 38	Lucille Lopez, Acting Legislative Secretary
39	30 day of Junu , 2006.

	RESOLUTION NO. <u>06-406</u> (Approving FY 2006 Head Start Program Budgets Modification No. 1/Amendment No. 1-Account #01-1211, Account #11-1212, and Account #11-1218) Page 3 of 3										
1	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono										
2	O'Odham Nation on the 22 NA day of, 2006 at <u>8:60</u> o'clock, <u>A</u> .M.,										
3	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective										
4	upon her approval or upon her failure to either approve or disapprove it within 48 hours of										
5	submittal.										
6 7	TOHONO O'ODHAM LEGISLATIVE COUNCIL										
8	I ORONO O ODRAM LEGISLATIVE COUNCIL										
9	$Q \rightarrow Q \rightarrow Q$										
10	Chillin 18 Daniel										
11	Evelyn B. Juan Manuel, Legislative Chairwoman										
12											
13											
14	11/2										
15 16	[ APPROVED on the <u>A</u> day of <u>JWW</u> , 2006										
17	[ ] DISAPPROVED on the 32 day of										
18	at 3 o delock, 7 .M.										
19											
20	I / //www.chi.au Au Au Cau Cau Cau Cau Cau Cau Cau Cau Cau Ca										
21	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN										
22	TOHONO O'ODHAM NATION										
23											
24											
25	10										
26	Returned to the Legislative Secretary on the $\frac{\partial \widehat{\beta}}{\partial t}$ day of										
27	Jum , 2006, at 3.15 o'clock, P.M.										
28 29											
30											
31	Shuw Jaka										
32	Lucille Lopez, Acting Legislative Secretary										
33											
34											
35											
36											
37											
38											
39 40											
40 41											
42											
43											
44											
45											

ACTION: APPROVING FY 2006 HEAD START PROGRAM BUDGETS MODIFICATION NO. 1/AMENDMENT NO. 1-

ACCOUNT #01-1211, ACCOUNT #11-1212, AND ACCOUNT #11-1218

MOVED: COUNCILMAN TIMOTHY JOAQUIN

SECOND: COUNCILWOMAN PHYLLIS JUAN

DATE:

**JUNE 20, 2006** 

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	FRANCES MIGUEL     (Vernon J. Smith)	155.40	X			
J10.0	2. FRANCES G. ANTONE(Absent) (Lucilda J. Valenzuela (Norris))(Present)	155.40	Х			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	Х			Х
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	х			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	Х			
GU VO	1. RAYMOND VICTOR	96.55	х			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			Х
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70	х			
167.4	2. SANDRA ORTEGA	83.70	Х			Х
PISINEMO	1. BARBARA SALVICIO	85.90	х			
171.8	2. GERALD FAYUANT ( )	85.90	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	Х			
169.0	2. GLORIA RAMIREZ	84.50	х			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	X			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	x			X
146.9	2. PHYLLIS JUAN	73.45	х			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	х			х
421.0	2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	х			
SIF OIDAK	1. WAVALENE SAUNDERS (Isidro Lonez)	93.35	x			x
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Martinez)	93.35	X			
	TOTAL	2,440.80	2,440.80	-0-	-0-	[06]